
A unified model of the task-evoked pupil response

Task design

Gain reflects arousalAim: Is pupil size a linear transform 
of arousal-related impulses
time-locked to task events?
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Generator function reflects timing Pupil size and saccades
entrain to task timing 

Answer: No, pupil size is a linear transform of gain-
modulated generator function. Gain reflects arousal; 
generator function reflects timing of task & behavior.
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Model comparison

Generalizability: reduction in R2 for in- 
vs. out-of-sample fit (2 <-> 4s trials)
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Linearity: median ratio (4:2 s) of gain
estimates. errorbar, one SEM 
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